Installation Support
Monday - Friday

8am - 5pm EST
800-239-2343

INSTRUCTION GUIDE
Model # CC121

Conduit Carrier

Fasten with 1/4" x 3/4" Bolts & Locknuts —

Carrier Parts List
1—Front

1—Rear

2—Mounting Brackets
4—Short Clamp Brackets
4—Tall Clamp Brackets
4—5/16” x 2” Hex Bolts
4—5/16" Locknuts
10—1/4” x 3/4” Hex Bolts
10—1/4” Locknuts

2 ft.—2” Wide mounting tape

6” Extension Parts List
1—Extension

10—1/4” x 3/4” Hex Bolts
10—1/4” Locknuts

6'—3/4” Wide Mounting Tape

16" Extension Parts List
1—Extension

10—1/4” x 3/4” Hex Bolts
10—1/4” Locknuts

6'—3/4” Wide Mounting Tape
1'—2” Wide Mounting Tape

Mounting Bracket

Fasten with 5/16" x 2" Bolt & Locknut
Clamp Bracket

Bracket Installation
(End View)

Mounting Bracket

—— 5/16" x 2" Bolt & Locknut

- Existing Rack Cross Member

— Clamp Bracket




